Aga Khan University Examination Board
Notes from E-Marking Centre on SSC-1 Computer Science Examination May 2018

Introduction:

This document has been produced for the teachers and candidates of Secondary School
Certificate (SSC-1) Computer Science. It contains comments on candidates’ responses to the
2018 SSC-I Examination, indicating the quality of the responses and highlighting their relative
strengths and weaknesses.

E-Marking Notes:

This includes overall comments on candidates’ performance on every question and some specific
examples of candidates’ responses which support the mentioned comments. Please note that the
descriptive comments represent an overall perception of the better and weaker responses as
gathered from the e-marking session. However, the candidates’ responses shared in this
document represent some specific example(s) of the mentioned comments.

Teachers and candidates should be aware that examiners may ask questions that address the
Student Learning Outcomes (SLOs) in a manner that requires candidates to respond by
integrating knowledge, understanding and application skills they have developed during the
course of study. Candidates are advised to read and comprehend each question carefully before
writing the response to fulfill the demand of the question.

Candidates need to be aware that the marks allocated to the questions are related to the answer
space provided on the examination paper as a guide to the length of the required response. A
longer response will not in itself lead to higher marks. Candidates need to be familiar with the
command words in the SLOs which contain terms commonly used in examination questions.
However, candidates should also be aware that not all questions will start with or contain one of
the command words. Words such as ‘how’, ‘why’ or ‘what’ may also be used.

General Comments:

In general, questions related to types of computer, CPU components, input devices, types of
software, MS PowerPoint and MS Word were well attempted. However, questions based on
evolution of computers, memory unit conversion, Windows start menu, octal to decimal number
system conversion, user interfaces and disc operating system (DOS) were generally not well
attempted.
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Detailed Comments:

Constructed Response Questions (CRQs)

Question 1:

Names of some computing devices that were invented during the evolution of computer are
given below.

. ENIAC

. UNIVAC

Mark-1

Abacus

Difference engine

Punch card tabulator
Analytical engine

Pascal’s Pascaline calculator

Choose appropriate name from the list inside the box and write it with corresponding
statement about a computing device.

(Note: Only one name can be used for one statement.)

I. was steam powered, fully automatic and could print the
results as well.

ii. works on decimal arithmetic rather than binary
arithmetic.

iii. was a general purpose, fully program-controlled and
automatic mechanical digital computer.

iv. had a system of gears. One-tooth gear of this machine
engages tooth with a ten-tooth gear once every time it revolves.

V. processes data in numerical form using digital circuits.

(Note: Most of the responses for this question performed below average in this question.)

Better responses showed good understanding of evolution of computers and wrote correct terms
to complete the given statements as shown in the given example.
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Example:

i Diferene n 3;n¢ was steam powered, fully automatic and could print the results as
well.

i. _ENIAC works on decimal arithmetic rather than binary arithmetic.

iii. Analytical engme  was a general purpose, fully program-controlled and automatic
mechaftical digital gompulcr.

iv. Pascal’s Paseatine caleulator had a system of gears. One-tooth gear of this machine engages
tooth with a ten-tooth gear once every time it revolves,

v. Maxic -1

processes data in nurmerical form using digital circuits.

Weaker responses showed lack of understanding about evolution of computers despite the fact
that question was from first student learning outcome (SLO) of the syllabus. Most of the
candidates were able to identify difference engine and/ or Pascal’s Pascaline calculator.

However, candidates tried to guess the answer and randomly wrote the names of computing
devices for rest of the statements

Example:

i, RMC}) Cﬂl‘& [ﬂLuLatEr’ was steamn powered, [ully antomatic and could print the results as
welk

il Pt‘bﬁ WD worls on decimal arithmetic rather than binary arithmetic,

1il. %oj‘*ﬁ E’ QO‘Q‘ E’}% ML was a general purpose, fully program-controlled and antomatic

mechanical digital compurer.

’ o
iv. 'Pagmﬂ, S Mﬂﬂx Calodalitnac 2 system of gears. Onc-tooth gear of this machine engages

tocth with a ten-tooth gear once every time it revolves.

V. EN IAC/ processes data in numerical form using digital circuits.
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Question 2a:

How many image files, of size 512 kilobytes each, can be stored on 1500 megabytes of a
DVD? Show your working.

Better responses were able to perform the conversion between kilobytes and megabytes
correctly. They also applied correct arithmetic operation, i.e. division or multiplication, to get the
required answer.

Example:
1™MB = o4 WB no: o1 Lles = 15 36ve
45pe *» 4 MB : 15cex tonH KB 531
1580 MR = 15 3&4one KB ot ot fles ® Faono fles

Weaker responses demonstrated poor conceptual knowledge about the conversion between
kilobytes and megabytes and calculated the number of images without making the memory unit
of given values same. A few of these responses were able to correctly calculate number of
images per megabyte, i.e. 2 images, but failed to perform the next step to get the answer 3000
images.

Example:

SA\QKB  {feito butes)

~ I

1$oo M & (_WLegrﬂ hotytes)

e ¢ o
wl: oo | :u-*‘-’l:ﬂé%ﬂf%tea thoge d fim 1000 AR

L.

Question 2b:

THREE types of events are performed by a mouse. Describe the purpose of these events.

Left Click Right Click Drag
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Better responses managed to distinguish between the left click, right click and drag events and
did not mix these concepts. For example, left click is used to select an icon, folder and file/ right
click is used to view the properties of an object such as file, folder, etc./ drag event occurs when
the left mouse button is kept pressed to drag and drop an object.

Example:

To spen pop-up Qea e
W e R SAS A B
m(ﬂmﬁ ow | cohde ‘
£g Whed QO W dndesors
OF Cﬂmﬂ gtgw oy ggy;@
swanddhany | opt Gors celoth £oles -
Weaker responses depicted confusion between left click event and right click event and wrote the

description of left click event under the heading of right click event and vice versa. Moreover,
few of these responses wrote the description of scrolling instead of dragging.

Example:

Lebbcifc . Slows e"j Aok eat ek Thae | By Arogsine Jow

e & e Uneds HUDEA COLn O ime Lammeond Coar cWomg e tha
by el ine on i ¥ i L= IR
con e lw cpcions., 9 i poc i B
5 ﬂ?\:‘ic’“"' oo o v Tcom.
Aoavncts & ?vozav.‘:.«-m
ot o

Question 3a:

Convert the given octal number into decimal number. Show your working.

(65.4)5
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Better responses demonstrated good understanding of converting octal number into decimal
number while considering the decimal point as well, i.e. starting from 8° on the left side of
decimal point and 8™ on the right side of decimal point. Some of these responses removed
decimal point by dividing the given octal number by 10 and then performed conversion to
decimal and finally divided the values to get the answer. As per the requirement of the question,
these responses showed the working required for conversion from octal to decimal number
system.

Example:

ox + Ox X+ uxg "
Y A Mox A
Mg + 0 v ¢

= <3,

Weaker responses were not able to convert octal number into decimal number correctly. The
glaring mistake in these responses was inability to understand the importance of decimal point,
i.e. starting from 8° on the right side of decimal point rather than 8% or not converting the right
side of decimal point that causes incorrect answer on the right side of decimal point.

Example:

628 +5x8 . I
g +5 .4

&53 : ""J rgj

Question 3b:

Show that binary addition of two numbers, (01000111), and (01110100),, gives a result which
is equal to 187 in decimal number system.
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Better responses correctly performed the binary addition to get the binary value (10111011),. In
order to verify whether this binary value is equal to 187 or not, these responses used two
methods. In the first method, binary to decimal conversion was performed on both binary
numbers and then these decimal numbers were added to get the sum 187. In the second method,
187 was converted into binary number which is (10111011), and it was shown that the sum of
the given binary numbers and the binary equivalent of 187 are the same.

Example:
0L onOLYy lngnﬁﬂn%-ﬁ-m;rha%-tmiﬂﬁiﬂx‘f
rorriore D2+ OABL A L X2 1O A2
1011101} o + 24 43
AT

(K%F‘l)\ﬂu =- le\.\-\lD\l‘): (t-.‘%r]'>1..u

Weaker responses were mostly able to add the binary numbers given in question correctly but
they did not show that sum of binary numbers is equal to (187)10.

Example:
0 {0001l
+ D 1110100
Vol [ Youl
Question 4a:

Asher wants to launch the start menu on his computer system which has Windows operating
system installed but the mouse connected to his computer system is not working.

Mention any TWO ways in which Asher could launch the start menu without using the mouse.

Better responses mentioned a variety of ways to launch the start button without using mouse. For
example, using Windows key/ CTRL + ESC shortcut/ trackball/ touch pad on keyboard/ speech
recognition/ virtual assistant/ navigation keys.
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Example:

= %he. ol LS clocl o oo A ooaax, .

Weaker responses were not able to write the correct name of Windows key and mentioned the
incorrect ways to launch start menu. For example, click the start button on keyboard/ use the
arrow keys/ use the function keys/ use Ctrl + S keyboard shortcut.

Example:

) By Puetting B akout  leotion of Yt “ewpoard.
;-‘} %’Uﬁ. ?ue_w;ani Oy & s

Question 4b:

Given is a list of change case options available in MS Word.

Change Case Options

Sentence case
Lowercase
Uppercase
Capitalize each word
Toggle case

The given table shows words before and after the change case option is applied on them.
Select appropriate change case option for each word from the given list and write it in the
third column of the table.

Before Applying Change | After Applying Change Change Case Option
Case Case Used
CompuTer cOMPULER
FLOPPY Floppy

Better responses demonstrated the good applied knowledge of change case option in MS Word
and applied correct change case options on the words given in the question.
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Example:

- Before Applying Change: ~ | - After Applying Change. .. | Change CaseOption Used. ;
e .. - ’ Case ‘ S = v S E ;s,Ca,s,se v oL .. e L é, wn; . » m A M o c M <
CompuTer cOMPUtER o %3{1 cohe

FLOPPY Floppy Qenternce care

Weaker responses mostly selected the change case options from the given list that matched the
appearance of words, i.e. uppercase and capitalize each word instead of toggle case on the
word CompuTer and lowercase and toggle case instead of capitalize each word and sentence
case on the word FLOPPY. Likewise, few of these responses wrote computer and floppy in
upper or lower case instead of writing the name of change case option to be used.

Example:

CompuTer cOMPUIER ia\?\ e, eoe a
FLOPPY Floppy

Vonde lose
3 )
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Question 4c:

To insert any chart in MS PowerPoint, we enter data in the MS Excel file that should be
depicted in the chart.

30

25 |

20 I —

15 Female

m Male
10

Class 9 Class 10 Class 11 Class 12

Complete the given MS Excel table by filling the shaded cells with reference to the given
chart.

19 9
15 5
17 7
14 4

Better responses depicted that candidates practiced to add chart in PowerPoint file and wrote
male and female in correct order in the shaded cells at the top of the MS Excel table and class 9,
class 10, class 11 and class 12 in correct order in the shaded cells at the left of the MS Excel
table given in the question.
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Example:

Weaker responses depicted lack of practice of the concept tested in this question and completed
the MS Excel table with common mistakes. For example, swapped the order of male and female/
wrote the total number of male and female in each class in the shaded cells at the left of the table/
wrote the difference between male and female instead of number of females only.

Example:
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Question 5a:
Define the following types of user interface:

i.  Command Line Interface (CLI)
ii. Graphical User Interface (GUI)

Better responses wrote to the point correct definition of command line interface (CLI) and
graphical user interface (GUI), such as, user types commands to perform any operation in CLI
and in GUI user uses mouse to interact via icons, menus, windows and pointers.

Example:

i Command Line Interface (CLI)

It is omn inrevface  whith veqvu.lves Commands +bo_?em.\‘:€ it @ ok of hd!"'“?

¢ mq;greé amd commards have b be learned\t does not have vifual nadxyve-

ii.  Graphical User Interface (GUI)

Ik g an indevBire dhak haf vifual nakuve onteuning Kent menw and

o}m,ql-,h]c,s n ggmaliow the Fuser ke Per{zuvm any rask. It if U(ewﬂ»iendlqv.

Weaker responses mostly wrote the definition of CLI but they did not define graphical user
interface. For example, GUI has graphics/ GUI allows user to perform any function without
typing commands/ GUI converts images in commands and it does everything graphically.
Likewise, few of these responses depicted that candidates were confused between definitions and
features of CLI and GUI and wrote features of these two interfaces rather than defining them,
such as, GUI is easy to use/ CLI is difficult to use/ GUI occupies more memory/ CLI occupies
less memory/ GUI is multitasking/ CLI is single tasking.

Example:

i Command Line Interface (CLL)
__Coromond ling Irkergace s also called CLI- This H'nm%%
15 eed  Por mﬂnlﬁ_ purposes euk it s 'f‘t:r EPEG-HC--'jHS ot more A
ii.  Graphical User Interface ((GUI
ical ULger ace ¥ . his wlerface is
o hauina %rq?ht di?':'r"l%ﬁﬂ- arol 1s MDEHI-& used é‘ ik is PDTEGHEPCET'&
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Question 5b:

Define ‘internal’ and ‘external’ commands in DOS and give an example of any ONE of these.

(Note: There were very few better responses for the application level question from the topic of
DOS for the last two years but the number of better responses was more for the knowledge level
question from DOS for this year.)

Better responses depicted that candidates were able to define internal and external commands in
DOS with the necessary keywords. Moreover, these responses wrote correct commands in
examples.

Example:

_z;WI-'ﬁVﬁi DS commmIBANDS - 7'315./ resicle  im Ahe  CommIAND - Cont

ﬁ/?- ﬂeL lonfoun  #he.  ppgrame o commard's a/ 08 eq: €IS  clear
7 V 7 74 / v

Lfondesi
EXTELNAL DOS ¢ 0MmmAaNws: ﬁ;z require }g/‘xza'ob(,ﬁf 7{)' '
X2 POPT - 7553’ Are g ?‘){trg[gr@ presend” N BATs o anel Exs. Aol ore
¥ o 7
bakch fie, commond fre o ereartrbie flo sospehivels eq. CHRDIK
s < 7 7~

Weaker responses mostly wrote the example of internal or external DOS commands correctly but
did not define these two types of commands correctly such as internal DOS commands are used
internally/ internal DOS commands are used to change the internal information of DOS/ external
DOS commands are used to change the external information of DOS/ external DOS commands
are used externally etc. Likewise, a few of the answers to this question swapped the definitions
of internal and external commands.

Example:

é&v\\e‘rﬂl CD\WMH\&Q;.-

Tdenen) Commmaeds oxe o Cormmtindy, winid, oxe wned \wkeuvealls in DOS.

fox mmq%u-&g_‘k.
Fu’tc«m\ thmﬂ&u-
Erdenod_commrenondte 0. Wone. Cormenonts wWiridn oxe uxed ex};gxxm“g\im DOS -

Soc tamenong g« DGR
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Extended Response Questions (ERQSs)
The following questions offered a choice between part a and b.

Question 6a:

I. Differentiate among supercomputers, minicomputers and microcomputers on the basis
of their size, computation speed, cost and use.

Supercomputers Minicomputers Microcomputers

Size

Speed

Cost

Use

ii.  Write any THREE advantages of using integrated circuits (ICs) over transistors in third
generation of computers.

(Note: Candidates attempted both parts of this question almost equally but their performance
was slightly better in part a than part b. This shows their interest in different types of computers
and major technologies used in different generations of computers.)

Better responses differentiated among supercomputers, minicomputers and microcomputers on
the basis of given factors correctly. These responses differentiated the given three categories of
computers by relating them with each other. For example, supercomputers are largest in size,
minicomputers are larger than microcomputers but smaller than supercomputers and
microcomputers are smaller than supercomputers and minicomputers in size. Likewise, they
compared other factors of these three categories of computers in the same manner.

Moreover, these responses wrote correct advantages of using ICs over transistors in third
generation of computers such as ICs are smaller in size than transistors, ICs consume less energy
than transistors, ICs produce lesser heat than transistors, ICs had more processing power than
transistors, etc.
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Example (i):

| The size aL sperv  |Miny rompulie ave | Micne tom polir 920
Size - . .

tornpulin ig LATIR~ | Lakqen in size Brat |y smallsdr ama(sy
hat Mot aed picro tompoba paicmo Compulin . SUPEM qné M gumpu’[a

Sopen compulaus have  Mid compota, ond Micne comnpoler S.NE';::‘
Speed Neny kia\\.‘n. sfeuﬁ Brea|move Speed 4§ Hean |5 \.,E[q_Hgdj Louses,
MINT By (g mmps'[ﬂ.n .| PAIERD !‘-Di'h?\ﬁi-l—& : SOPEL B Mini mmpum-
SUPE,L mmpum,b axe |Mini t-omputw;. ane, | Miow cam@ebin W lant
Cost erpPensiNg than minal aMpentive Han moe m.pens.'tw_ among
and micnp compilin . | compulew super asd min compdlen

Sus_u, mpollns and N ot usned oo T ol Ubed
Per comp "‘U‘"k \-\u.-%

Use voed amaler weathea d bosh & in ak howan ¥ OFGEWJ‘:: FD(
Porcant andbor iriinia e rehoovk - amnql vLe.
Example (ii):
o vt 01 al; chips vge ’1:-.‘5““=|| enexabon .

Some bP_n.p.F.‘rS o@ Using Haam oA hensistors ane ;-
! 3 3

Yoy one conallan in_size than hangistors  Whid vedison compiliis ovesdd size.
?')TW:‘IJ L\m;e_ "U'E\J""-Eh 5[:-9.3:& lt‘m.o\ thm\&\‘Dfs anc; A mnbre Qt.t,uml'a.-

M_Ch&@& cansome. lons powen an tampaned to fiasuislons.

Weaker responses mostly did not differentiate between minicomputer and microcomputer
correctly and swapped their differences such as minicomputer is smaller in size and
microcomputer is bigger than minicomputer, microcomputers are faster than minicomputers,
microcomputers are costly than minicomputers, etc.

Moreover these responses mostly wrote one or two advantages of ICs over transistors correctly
and the incorrect advantages of ICs include ICs are advance than transistors/ ICs can store more
data than transistors/ ICs are compulsory for computer but transistors are not/ ICs are portable
but transistors are not etc.
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Example (i):

ﬁé%x ;:2 ;W if‘ i@i iiiw;:\ T Tl
Size ‘ij ‘J’” CL’& U“'
Sbow , g, mv\{mtw; Neumal },‘mul Micne m«[u.u.tu.g i
Speed P oA 5‘-‘1“-&665’ A[WLJ
Too . Nounad "‘J’{W
Cost l [ L

By anduabliy we  [Officw o 4ot bhome | Neod b o Lalo-

Use _B,WL e be hod '

Example (ii):

(Cs  werne oAl odusancasd odwanel  Hen Jnidlas

Mﬁzﬁ%@&&,& A M"‘d’ feib fdore

. N L X5 -
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Question 6b:

The given image shows the system bus in a typical computer.

CPU Memory

Input
and
Qutput

] A

\/

| B

V Y

V

| C

Identify address bus, control bus and data bus on the basis of connections shown among

CPU, Memory and Input and Output units of a computer system.

Describe the following types of translators.

Compiler Interpreter

Assembler

Describe the role of RAM and ROM in computer.
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Better responses exhibited good understanding of the three types of buses in computers, i.e. data
bus, address bus and control bus and identified them from the figure given in the paper correctly.
Similarly, these responses described major functions of three types of translators and did not mix
their descriptions with each other such as compiler translates high level program in machine code
as whole, interpreter translates high level program in machine code line by line and assembler
translates assembly language program into machine code, etc. Moreover, these responses showed
good understanding about the role of RAM and ROM and did not swap their description such as
RAM is volatile memory/ RAM stores currently running programs/ RAM is temporary memory/
ROM is non-volatile memory/ ROM stores the BIOS/ ROM is permanent memory etc.

Example (i):

A D~  Bua
o M B
Coandx 6 Zuh

Example (ii):

C

B oompilee i a| An Tnterprekts | A lamug oMo
EMM o Aol | Baulabes Qach B, high bedf
[QA a wihde Ling 0"60 fHA-"-'-ﬂ Eﬁ'&j _

P‘a’ojmm Le{im Raeca o '5“" ana ke by 2n
emble~
el
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Example (iii):

Raed - RAM s 4 pon-ubladive memory - 1 "'ups ‘o
boring ol ad He L 4% quc@'& :
Pov - Tt iy & vl Mim-rr»\ h Lb(fs, efugwlﬁ ]
U‘P P‘Eotﬁ«ﬂ MAJ t hat 4 /1\&?1(1_"‘“" fé{ C/qu.rq(_ﬁ’faf l\&tuqﬁog

Weaker responses mainly demonstrated that candidates knew the main points required for the
solution of this question but they were not able to identify that which point belongs to which
term and swapped them, i.e. swapped the names of buses with each other/ swapped the
description of compiler and interpreter/ swapped the role of RAM and ROM (volatile and non-
volatile) etc.

Example (i):

A bote wug

B WAddvess bug

L {_Dﬂ"h’n"u Wu §

Example (ii):

Interpreter Liangtaley A e e mblolransiaie

Compitee Feangiateg

| wnls
human danguaqe i machiot iﬂ“ﬁ'-”‘ﬂ"— harnein Jhnﬂ\o’ﬂja

& darovaqd machane danguagt:
bin danguage of ivr humor i 1‘ iy
a'!-j ﬁ P Jﬁaﬂiiﬁﬂ" ak [ astsembles vy nj
lhine Jemquoagte n
e iad n 9 tj ‘n ko mae veod ablt wnd Jdranc fafe

dint by dinte - oV AL -

fovem .
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Example (iii):

eaﬂ_dom OLL eSS memofj (Eﬁ_@ anﬂ e—tag[ On\.j MLMM:}(EDM)

le"mauA[ mgmo"'.\ﬂ,/_‘)- Tl;\a{ s tore Adatéd and ‘Hf\tn Ub\fnnsfcfs ;{-
— 3

Al
ds A cev *»‘\fpﬂﬁh Mie dota by, % c thok M vge v

ouipuet Yasy and accurals -
L]

tje.*s the

Question 7a:

Identify any TWO application software that can help a teacher to improve his/ her
routine tasks such as preparation of lecture, report cards, attendance registers and time

table.

Describe THREE uses of each software identified in part (i).

(Note: More than 70% of the candidates attempted part a of this question and their performance
was much better in part a than part b. This depicts their confidence over the concept of

‘application software’ more than ‘utility software’.)

Better responses showed good understanding about the types of application software and they
identified the relevant software according to the scenario given in the question. Moreover, these
responses wrote three pertinent uses of each identified application software.
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Example:

'-'lt) i~ Appication Sottwares:
s+ Mg Excel
s Mg Pgwerpain‘r.
Botn of dhece Softwars increase the Produchiving
AL wWell s betrey \earning of Students.
wlees .
« Mo Excel :
— It Plovides vug witha Whole table which
relPs 1o rake arfendonce Yeqgictery L rrae -
Taoble. o RS way tne reader wort oe difed, o malk e

Tries rmransaalh

— AN e recestaiy cdcatorons @ ke done juck by anm
eDqu'l% Ina Cell . 2=, Min, NaX sTemarks con be
givers easily.

B Daking YepsTEs anendanee Yegicley Hene fable rranuatly

wond Jake up al\ck df Tme, do draws oS and woss

Breex b Im Excel -they are ar@ody dawn Solesshme
+ f0s Tower point: 1.) b PrOVides betley leavning 4 adding
AAPNS 5 LUPS, MOAeS in Gide winich POWeYEINt Plovidesos,

_z}‘ﬂ: WA o vaurae Beg Hme D Premie Mnelechites am iickes,

TEalihery oAt uae oriqaopEdias ao el
wiher Hnan onfrqes . 3) ona copypaske infatmalion onthe sitdes.

Weaker responses mostly tried to describe the uses of identified application software from the
perspective of student but the demand of question is to describe the uses from the perspective of
teacher/ wrote the features of application software rather than uses in daily routine tasks of a

teacher/ wrote general categories of application software such as education software,
productivity software, etc.
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Example:

e Sk cp o iy
belhey Youtee foce oe
Whuentinn argune .
rpwr\tﬁm‘tﬁ %Df:(m‘(&.

q) Ed\\Qd(\m\ %nt’imme N an \‘Plo teadrex T \eormy Yo
_‘b:: roake \aii::{\i cods - Eduecion E@MZQ!E e teare:

ﬁ&g\\\d\le_ﬁ \\un W \eam We ™ Vo b %?EQVJ {:Temlh .
Edwediexy wofor oeh pohde we @n ok only U \eain
Wik v can eofts dided oo |

(Q:de}iﬁ\*tq C:hf'um.'& ;

Mm’%__‘mwm%ﬁ
%ﬁmwmw% Weenecs,

A \r\e‘.\,{bs L}ou BV S = o \‘\\n_-. W:ﬂud? WO,
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Question 7b:

Utility software is a type of system software used to support the computer infrastructure,
distinguishing it from application software which is aimed at directly performing tasks that

benefit ordinary users.

Explain the functionality of any FOUR utility software using appropriate examples.

Better responses depicted good understanding of utility software and did not confuse utility
software with application software and operating system. These responses wrote valid names of
any four utility software and explained their functions.

Example:

LA Al e Pq, Sof frwares Then help suppert oo compube, ol
?fuwm&ﬁeallamv” hc:rrdwafe _

1. %&CkJAPMlﬁPL s o-,LL'i:"lﬂ‘\j, QﬁftwaJ_.ﬂ_ Ciak (s usred to
Cren e O \'.‘afx_c/k.up ot ooy 1MP€VM Bleg 2o 1n covee o cogn
w fsvscen incidewt Like vitus oddadk oy Occad enfed delet
~lE VW e Con T-Q.fﬁmn ouvy fled e

. W&n.?._p_ - tE:-DdE;E:- Clluh\,(—l-j 501t wouwe Thal is woel
E’E—‘ L(:lmp{f@% L&fGlf-‘fdeL& ‘DH ara‘erVivxa tl-"-\.E-fn"L 2o Thred
M ocu&pgl les ‘}.-PQL-E_;&WA Conn e, Ghovi ech, cgiaqgu;l

% - MCJ'(:EC_Q, oS s - This I.J_]c""k Hq,e,a-fham,m helps as do
Prelid oy vius ke rmaluwa e Spyware ete avd
ororle w ”"““jﬁ‘*"dJ“\& if- {i’:‘_@mmwabe wae d b loce t e
MMrfremnuﬁ ’Df—xsa,t Tufeclesl Blg. o Tre virws 'lgf_elff
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Most of the weaker responses wrote irrelevant or incorrect names of utility software such as
compiler, clip graph, restore, DOS, Windows, MS Word, MS PowerPoint etc. Moreover, these
responses explained purpose of utility software such as optimization, maintenance, etc. and did
not mention names of utility software and their purposes.
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